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Clues for Logic Puzzle: K957EZ

1. Sarah received the $45,000 scholarship.

2. The person who will major in Astronomy was awarded $10,000 more than the person who's going to
Stanford.

3. The person who received the $35,000 scholarship won't major in Chemistry.

4. The student who's going to Yale was awarded $15,000 more than the person who's going to Stanford.

5. Of the student who received the $30,000 scholarship and Nettie, one will major in Physics and the other
will be going to Yale next year.

6. The student who will major in English was awarded $5,000 less than Vicky.

7. The student who will major in Biology was awarded some amount more than the student who will major in
Astronomy.

8. The student who's going to Brown was awarded $10,000 less than the person who's going to Stanford.

9. The person who's going to Penn State was awarded some amount less than the student who's going to
Cornell.

10. The person who's going to Stanford was awarded some amount less than Renee.

11. The person who will major in Chemistry was awarded some amount less than Nettie.

12. Lauren isn't going to Cornell.

13. Lauren was awarded some amount more than Renee.

14. Neither Felicia nor the student who's going to Brown is the student who received the $55,000 scholarship.

15. Of the person who will major in Physics and Renee, one will be going to Harvard next year and the other
received the $30,000 scholarship.

16. Lauren won't major in Biology.

17. The student who received the $55,000 scholarship won't major in Archaeology.
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